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ERIAR BRRESHOBELRAR Tl %g Tl %g 2%
Q EEVMoRERE 2.6
Ql_EFRNEE 0.40 - 3.2
1 BBEK 3.0 0.15 3.0 1.00 3.0
1.1 ERESLAIL 3.0 0.40 3.0 0.40
1.2 EE 3.0 0.40 3.0 0.40
1 |[FADEES L 3.0 0.40 3.0 0.30
2 | REEEEERE 3.0 0.60 3.0 0.30
3 |RRESHRE@EGEHER = 3.0 0.20
4 |RERESHEESEER = 3.0 0.20
1.3 k& 3.0 0.20 3.0 0.20
2 BRREE 3.0 0.35 3.0 1.00 3.0
2.1 ERHE 3.0 0.50 3.0 0.50
1 |[=R 3.0 0.38 3.0 0.57
2 |5 ERIEEE 3.0 0.25 3.0 0.43
3 |[V—=2RIE S 3.0 0.38 s
2.2 R EHIfE 3.0 0.20 3.0 0.20
2.3 ZHAK 3.0 0.30 3.0 0.30
3 X-RRE 3.0 0.25 3.3 1.00 3.1
3.1 BAFIA 4.2 0.30 4.2 0.30
I ES S HAMBRAEE225% BEIHBRNLIE=1.25% 5.0 0.60 5.0 0.60
2 |ARIEEO - -
3 |BAEFIAEE 3.0 0.40 0.40
3.2 JL7xE 2.0 0.30 0.30
[ 1 |[BseHim 20 | 1.00 1.00
3.3 BE 3.0 0.15 0.15
3.4 MRBAHITH 3.0 0.25 0.25
4 ERERE 3.9 0.25 1.00 3.8
4.1 FERXE 4.0 0.50 0.63
| 1 |[exEen= KRB RADFFLEIFA A A AEFRA 4.0 1.00 1.00
42 #% 3.0 0.30 0.38
1 |[B5=E 3.0 0.50 0.33
2 |BRBKIERE BRMSEMROERE 1/100E . 0.33
3 |RYANSNTRA~NDEE 3.0 0.50 0.33
43 EREHE 50 | 0.20 =
1 |co,mEER 5 -
2 |EE D HlE SERE 50 | 1.00 -
Q2 H—EXEE = 0.30 - ° 2.8
1 BeE 2.5 0.40 4.0 1.00 3.2
1.1 BEEE- LTS 3.0 0.40 5.0 0.60
1 |[EE-ushiE E=10m/FRUL. BEREEL - 5.0 1.00
2 |EERREBESREXG = =
3 |N\UYFIY—EtE 3.0 1.00 s
1.2 EM - RE 1.0 | 0.30 25 | 040
1 |[EaRk-24 EE-TEABOXRHAF2.5mLlE - 4.0 0.50
2 [UoLy azR—X 5 -
3 |REEHE 1.0 1.00 1.0 0.50
1.3 HIFER 3.5 0.30 s
1 |[#EEEEICEREL-%ET REEE - REIXFE OB EME A 4.0 0.50 s
2 |#EFEERREORER 3.0 0.50 .
2 AN 3.0 0.30 S 3.0
2.1 E-RE-§E-Hik 3.0 0.50 =
1 |[HEEESOIHIIKI) 3.0 0.80 s
2 |RE-HIE-FlIRTERE 3.0 0.20 s
2.2 B -HHOMAELR 3.4 0.30 s
1 [SREMHEOmAER 3.0 0.20 s
2 |5EHEEFHOBIELERR 3.0 0.20 s
3 |FERELELFHOEHLERME 3.0 0.10 -
4 |ZEHRBRSIVFOBEHLERR 3.0 0.10 s
5 |22 - faHEKER S O EH L ERRR [#67K (PEP) /B-55KHEK (VP) /B~ #HEK (VP) /B-EIE & A 5.0 0.20 -
6 |FTEXRHERFOEHIVERMR 3.0 0.20 .
24 55814 2.8 0.20 =
1| ZER- R 3.0 0.20 s
2 |#EBEK-EAERE 2.0 0.20 s
3 |BExEiE 3.0 0.20 s
4 |EW-REXIESAE 3.0 0.20 s
5 |BIE-EmEE 3.0 0.20 .




3 WG -EHE 2.5 0.30 2.0 1.00 2.2

3.1 ZREOEY 1.4 0.30 1.0 0.50
1 [BEoniy 1.0 0.60 1.0 0.60
2 |ZEHORK-BHS 2.0 0.40 1.0 0.40

3.2 MEDPLY 3.0 0.30 3.0 0.50

3.3 FEOEF M 3.0 0.40 =
1 |ZERREDEHHE 3.0 0.20 =
2 |HHKEOEHM 3.0 0.20 =
3 |EREMOEBHME 3.0 0.10 =
4 | BIEEROEHME 3.0 0.10 =
5 |EEHEBOENME 3.0 0.20 =
6 [NV ITITAR—ZADHER 3.0 0.20 =

Q3 =S BEH (BubR) — 0.30 5 2 1.6
1 APBIEORS LA 2.0 0.30 . 2.0
2 FELHH-RBE~DEE 1.0 0.40 = 1.0
3 Mgt - AT~ DER 2.0 0.30 = 2.0

3.1 s~ DEE. REED R L 2.0 0.50 =
3.2 B NREIRE DM L 2.0 0.50 =

LR EEMOREAFIERLE :

LR1 TRJL¥— = 0.40 P 3.0
1 BYsEORAFE BPI=0.74 5.0 0.20 = 5.0
2 BRIRILF—HA 3.0 0.10 = 3.0
3 BECATLOERELE 2.3 0.50 = 23
4 $hEMER 3.0 0.20 = 3.0

SEEEUSOFHE 3.0 1.00 =
41 [E=4)2y -

4.2 |EREEKE =

£ 5 EEDETHE =
41 [E=4)2 Y -

_ | 42 EREEES -

LR2 &R-<TUT L - 3.1

1 KERRHE : s 3.4
1.1 #iK BEIKRRICINZ TEHKEESEZRALTLS 4.0 0.40 _
1.2 FKF A -#EKEFEOF A 3.0 0.60 =
1 |RAKABAVATLEADEE 3.0 0.70 =
2 |MHEKEMACRATLEADERE 3.0 0.30 =
2 FREHEROEASHIE 3.1 0.60 = 3.1
2.1 MHERA=EDHIHE 2.0 0.11 =
2.2 BEEERAEORGFER 3.0 0.22 =
2.3 PARMEICEFTDIHAVILHMOER |- 3.0 0.22 =
2.4 REMBUSN BT RS A9V 4 O |EEM (EIR) 3.0 0.22 =
2.5 BT REEHRMNLERINEARM - - -
2.6 B OB ETEEMER E~DOIEA |BAE+EK+EEH 40 | 022 -
3 EEMESEMEOERAE® 3.0 0.20 = 3.0
3.1 HEYMEESFHVHMHEOFER 3.0 0.30 =
3.2 7Oy -\Ov O EE 3.0 0.70 o
1 [HAFHF - - -
2 |FaHK (HEME) 3.0 0.50 =
_ 3 |4 3.0 | 050 -

LR3 B BRi% = 0.30 > 5 2.9
1 HERREIE~DERE LCCO2=95% 3.1 0.33 = 3.1
2 HBRIE~OER 2.4 0.33 = 2.4

2.1 KRB 3.0 0.25 =
2.2 BRREEBLORE 2.0 0.50 =
2.3 A2 75 ~D A F I 2.7 0.25 =
1 [FKEEKERIER 3.0 0.25 =
2 [BKAE G EH 3.0 0.25 =
3 [ZEARHF 3.0 0.25 =
4 |BREYLEES DG 2.0 0.25 =
3 FABE~NDER 3.2 0.33 = 3.2
3.1 BE-R-BEROML 3.0 0.40 =
1|88 3.0 1.00 =
2 |IRES - B _
3 [ER - - =
3.2 AE.WE. AREZE M 3.0 0.40 =
1 [REDMEF 3.0 0.70 =
2 |MEOHF . -
I EEEERE 3.0 | 0.30 .
3.3 AE D HIH 4.4 0.20 =
1 [ermsrvEmEBOssAcBLEE~0HE B F VIV ACDBEHEH L. D OILEMREALLL 5.0 0.70 -
2 BRAODEMNERIZLDREH (TLT)~DxE 3.0 0.30 =




